
HOMETOWN


Example: (terwin) 	 = winter


Not a Building    Right Order Alphabetical Order 
(arod sign) 	 = __________ 	 	 1. __________

(ftracfi maj) 	 = __________ 	 	 2. __________

(kinparg lot) 	 = __________ 	 	 3. __________

(restet lights) 	 = __________ 	 	 4. __________

(grouplaynd) 	 = __________ 	 	 5. __________

(sub tops) 	 = __________ 	 	 6. __________

(walsidek) 	 = __________ 	 	 7. __________



Buildings 
(cuhrch) 	 	 = __________	 	 1. __________

(elhot) 	 	 = __________ 	 	 2. __________

(armket) 	 	 = __________	 	 3. __________

(temlep) 	 	 = __________	 	 4. __________

(heatter) 	 	 = __________ 	 	 5. __________

(ermarketsup) 	= __________	 	 6. __________

(emosqu) 		 = __________ 	 	 7. __________

(staurantre) 	 = __________	 	 8. __________

(tairpor) 	 	 = __________ 	 	 9. __________

(hopistal) 		 = __________	 	 10. _________


The letters in (brackets) are NOT in the right order. 
Put the letters in the right order. 


Put the words in Alphabetical order.
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Fix the spelling.   



Teacher’s Key 

Not a Building    Right Order Alphabetical Order 
(Road sign) 	 = __________ 	 	 1. Bus stop

(Traffic jam) 	 = __________ 	 	 2. Parking lot

(Parking lot) 	 = __________ 	 	 3. Playground

(Street lights) 	 = __________ 	 	 4. Road sign

(Playground) 	 = __________ 	 	 5. Sidewalk

(Bus stop) 	 = __________ 	 	 6. Street lights

(Sidewalk) 	 = __________ 	 	 7. Traffic jam


Buildings 
(Church) 	 	 = __________	 	 1. Airport

(Hotel) 	 	 = __________ 	 	 2. Church

(Market) 	 	 = __________	 	 3. Hospital

(Temple) 	 	 = __________	 	 4. Hotel

(Theater) 		 = __________ 	 	 5. Market

(Supermarket) 	= __________	 	 6. Mosque

(Mosque) 		 = __________ 	 	 7. Restaurant

(Restaurant) 	 = __________	 	 8. Supermarket

(Airport) 	 	 = __________ 	 	 9. Temple

(Hospital) 		 = __________	 	 10. Theater
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